C
5
o
o
=
2
ol
(2]
<
@
2l
o
3

Linear Rail System Linear Rail System
SBIEIES ;i H L% SRR SBIZS S H LSRG
SBI High-load Linear Rail System http://www.sanhan98.com E-mail:sanhan98@163.com SBI High-load Linear Rail System
SBI-SL/SLL

- a /y,,,,,// I .

4-MxDP . w /2-Q1 (N1 L
/ . L1 . N2 4+Q2
/ o|i]e TL ..D. 1 | " J i ] !
Myo{ H K ? ' j T1A7 hid = i AT2

E el d
W2 Wi1_ G F
(EA 3L Unit : mm)
oodE | 3E, -

Mouﬁﬁg}?ji:nrension Bléglf;gi}rﬁe_r{sions SR~ EARE BFERNE =
= PR < shan Rail dimension - Bi%ffad Permnlfc?rlw?gw tstatlc Mass
Aty REZNFL ;EHR = :

Model | |w | L | E Mounting tap hole L Te1 | K Grease fitting wi | wa | b . B%ﬁ\i}'e G %*:f;«; r?kt;\r;]g [kN «m] E:i&k i,:fl}l[
B|J | M| DP T1 N1 | T2 | N2| Q1 | *Q2 d D h 'g{%‘n C | Co | Mro | Mpo | Myo | kg | [kg/m]
SBI15 SL 28 | 34 1638 3 26 | 26 | M4 | 5 |452] 10 | 25 | 85 | 55 | 7.8 | 38 | M4x0.7 | (#35 15 9.5 13 60 45 75 55 20 3000 141 241 016 | 017 | 017 | 019 | 13
SBI15SLL | 28 | 34 | 794| 3 26 | 34 | M4 | 5 |608| 10 | 25 | 85| 55 | 78 | 38 | M4x0.7 | @35 15 9.5 13 60 45 7.5 55 20 3000 171 3171 021 029 | 029 | 026 | 13
SBI20 SL 30 | 44 | 788 | 46 | 32 | 36 | M5 | 5 |58 10 |254| 6 12 | 58 | 5 |M6x0.75| @35 20 12 16.5 60 6 9.5 8.5 20 4000 | 222 | 382 | 036 | 033 | 033 | 041 2.2
SBI20SLL | 30 | 44 | 964 | 46 | 32 | 50 | M5 | 5 |744| 10 | 254 | 6 12 | 58 | 5 |M6x0.75| @#3.5 20 12 16.5 60 6 9.5 8.5 20 4000 | 279 | 50 | 047 | 056 | 056 | 054 | 22
SBI25 SL 40 | 48 | 92 | 55 | 35 | 35 | M6 | 8 70 | 16 | 345| 10 | 12 9 5 | M6x0.75| @35 23 12.5 20 60 7 11 9 20 4000 | 315 | 521 | 056 | 056 | 0.56 | 0.69 3
SBI25SLL | 40 | 48 | 108 | 55 | 35 | 50 | M6 | 8 86 | 16 |345| 10 | 12 9 5 |Mex0.75| (@35 23 12.5 20 60 7 11 20 4000 | 367 | 644 | 069 | 084 | 084 | 0.85 3
SBI30 SL 45 | 60 |107.6| 7 40 | 40 | M8 | 10 | 796 12 | 38 | 115 | 12 | 108 | 5 |M6x0.75| (#5.7 28 16 23 80 9 14 12 20 4000 | 428 | 654 | 085 | 077 | 0.77 | 1.04 | 425
SBI3OSLL | 45 | 60 [131.6| 7 40 | 60 | M8 | 10 |103.6] 12 | 38 | 115 | 12 | 108 | 5 |M6X0.75| (#5.7 28 16 23 80 9 14 12 20 4000 | 513 | 847 | 110 | 130 | 130 | 137 | 425
SBI35 SL 55 | 70 |1246| 75 | 50 | 50 | M8 | 10 |946| 15 |475| 15 | 12 | 15 6 |M6x0.75| @5.7 34 18 26 80 9 14 12 20 4000 | 595 | 891 | 142 | 128 | 128 | 156 | 6.02
SBI35SLL | 55 | 70 |152.6] 75 | 50 | 72 | M8 | 10 |122.6] 15 |475| 15 | 12 | 15 6 |M6x0.75| @57 34 18 26 80 9 14 12 20 4000 713 | 1163| 183 | 212 | 212 | 204 | 6.02
SBI45 SL 70 | 86 | 142 | 9 60 | 60 |M10| 13 | 108 | 17 | 61 [205| 135|193 | 65 | PT18 | @#5.7 45 20.5 32 105 14 20 17 22.5 | 4000 792 | 1163 | 248 | 190 | 190 | 280 | 9.77
SBI45 SLL 70 | 86 | 174 | 9 60 | 80 |M10| 13 | 140 | 17 | 61 | 205 (135|193 | 65 | PT1/8 | @57 45 20.5 32 105 14 20 17 22.5 4000 948 | 150.5| 3.21 | 314 | 314 | 369 | 9.77
SBI55 SL 80 | 100 |1724| 12 | 75 | 75 |[M12| 18 | 131 | 21 | 68 | 22 | 13 | 22 8 PT1/8 | 8.7 53 23.5 38 120 16 23 20 30 4000 | 127.3| 181.8| 481 | 297 | 297 | 442 | 1372
SBI55SLL | 80 | 100 |211.8] 12 | 75 | 95 |[M12| 18 |1704| 21 | 68 | 22 | 13 | 22 8 PT1/8 | 8.7 53 235 38 120 16 23 20 30 4000 | 147.9| 2245| 595 | 478 | 478 | 582 | 13.72
SBIB5 SL 90 | 126 |219.8| 19 | 76 | 70 |M16| 16 |1704| 26 | 71 | 14 | 13 | 14 | 10 | PT1/8 | @87 63 315 58 150 18 26 22 83 4000 | 188.3| 261.7| 824 | 557 | 557 | 9.1 | 2317
SBIB5SLL | 90 | 126 |272.2| 19 | 76 | 120 | M16 | 16 |222.8| 26 | 71 | 14 | 13 | 14 | 10 | PT1/8 | (8.7 63 31.5 58 150 18 26 22 83 4000 | 2325 354.1| 11.15| 9.86 | 9.86 | 11.98| 23.17

©®C (EARENEBNETT) , Co (EARFNEEFRETE

C (Basic dynarpic load rating),‘ Co (Basic static load rating)
*Q2: MEGEMBERFRIENFLRE, KUBGILESHENSIFNARGE AN AR
® 7EIEIT M E SERFRHFRET, HAM=81T7FHFL-
*Q2: The hole of side grease nipple is not made to prevent a foreign substance from going into inside.
When you order the side grease nipple, we build it by ourselves.

@170 @171



